小学二年级上册加减混合算术题

班级：_____姓名：_____座号：_____成绩：_____

	99-96+32=
	(66－50)÷2=
	36÷(2＋4)=

	99-36+29=
	99-29+96=
	55-46+22=

	99+99-96=
	6×2＋7=
	7×（45÷5）=

	99+（25-24）=
	6×（2＋6）=
	3×9×3=

	99+(23-24)=
	18-36+27=
	80-(19＋42)=

	99+(23-24)=
	18-36+27=
	124+11+2648=

	99-（25-24）=
	99-96+32=
	69-39+26=

	97-46+32=
	65-38+26=
	79+19-56=

	92－26＋11=
	42－37＋54=
	77－64＋22=

	90－9×9=
	56－6×6=
	(85-31)÷9=

	90－2×9=
	56－1×6=
	(85-31)+59=

	9×7-40=
	577-28÷4=
	90-9×9=

	88-46+22=
	65-28+26=
	20+(22-28)

	88-28+86=
	6＋8×4=
	（6＋2）×7=

	88+88-56=
	58-26+28=
	84-28+86=

	875-147-223=
	8×5+214=
	(534-327)+621=

	87-27+16=
	99-46+32=
	59-36+29=

	85-25+16=
	82-(28-22)=
	51-（25-24）=

	84-25+16=
	4+25-1=
	82+22+84=

	81÷9×6=
	54＋9×2=
	8×7－55=

	81÷9×6=
	（39-30）×6=
	(79-23)÷8=

	81÷9×6=
	(39-30)×6=
	(79-23)÷8=

	80-(19＋42)=
	(21＋15)÷9=
	64＋8×2=

	8×7－55=
	90－9×9=
	56－6×6=

	8×7－55=
	4×6＋7=
	20÷4＋5=

	8×7＋30=
	6×8＋6=
	61-38+26=

	79+19-16=
	4+27-16=
	93+23+94=

	77-76+32=
	61-38+26=
	9×6＋4=

	77-76+32=
	61-38+26=
	79+19-16=

	77-76+32=
	5×3＋9=
	9×8＋30=

	77-46+32=
	63-38+26=
	79+19-36=

	76＋72÷8=
	88-26+28=
	20-(22+28)=

	73-23-4=
	87-27+16=
	93-(39-23)=

	73-23-4=
	93-(39-23)=
	71-（23-24）=

	71-(23-24)=
	99-(23-24)=
	30+(23-29)=

	7×5+18=
	6×6＋27=
	23＋6×8=

	69＋10－36=
	27＋12－28=
	67＋27－37＝

	69-(39-23)=
	18-36+27=
	99+（23-24）=

	68-28+26=
	(100-63)×8=
	38-(49-21)=

	67＋7×2=
	8×8－55=
	90－5×9=

	65-28+26
	58+18-56
	58-26+25

	64÷(24-16)
	48-24÷3
	12÷4+75

	64÷(24-16)
	48-24÷3
	839-152+67

	64＋8×6
	81÷9×7
	（34-30）×6

	615-353-187
	937-(37+16)
	6×（145＋457）

	61-38+26
	6×8＋5
	61-38+26

	6×8＋6
	61-38+26
	（66-50）÷2

	6×8＋5
	(75-18)×7
	99+(25-24)

	6×8＋5
	（33+49）-68
	6＋8×4

	6×6＋27
	23＋6×8
	（33+49）-68

	6×6＋27
	23＋6×8
	(33+49)-68

	56-6×6
	(85-31)÷9
	64÷(24-16)

	56－4×6
	46＋4×4
	31－3×2

	56－36－15=
	67－60＋56=
	85－50＋29=

	55-56+22
	61-28+26
	58+18-16

	55＋38－19=
	15＋24＋22=
	69＋24－19=

	55＋38－15=
	54－41＋36=
	99－88＋77=

	53＋36－18=
	63－25＋17=
	73＋24－18=

	507-199-201
	9+626＋1094
	6×8＋366

	5×8-39
	684+(211-189)
	801-187+245

	5×3＋9
	9×8＋30
	8×7＋30

	48-24÷3
	12÷4+75
	7×5+18

	4570-（2390+47）
	5×4+233
	3425+608-2007

	45÷(247-23)
	12÷4+75
	7×5+18

	42－29＋26=
	74－68＋17=
	64－17＋12=

	42÷(1＋6)
	6×(5＋4)
	88+88-86

	4×7＋46
	53－1×9
	68＋2×8

	4×6＋7
	20÷4＋5
	6×8＋5

	4+27-16
	93+23+94
	69-(39-23)

	4+27-16
	93+23+94
	69-(39-23)

	38-36+27
	84-27+16
	79+19-16

	36÷（2+4）
	38-36+27
	84-27+16

	35－28－28=
	77－38＋42=
	60－34＋35=

	32÷4＋16
	4x8+17
	140-6x5

	30+(23-29)
	73-23-4
	93-(39-23)

	30-(23-29)
	93-23+94
	71-（25-24）

	3+23+94
	93-(39-23)
	99-(99-29)

	29－4×2
	42÷6×7
	30-(23+29)

	256+108-356
	109×8＋531
	236+148-255

	24＋58－17=
	53－39＋27=
	43＋28－23=

	236+248-125
	1296-3×8
	8×7-55

	23＋32＋12=
	42＋24－19
	75＋17－87=

	22+22+84
	82-(28-22)
	88+(88-28)

	22-(28-22)
	88-（25-24）
	88-86+22

	2×9＋63
	6×8－29
	6×3＋66

	16÷2×7
	(19+2)÷3
	(36÷4)+27

	140-36÷9
	48-24÷3
	64-49÷7

	12÷4+75
	4×6＋7
	20÷4＋5

	1000-425-137
	327+495+123
	（245-127）+354

	(85-31)÷9
	64÷(24-16)
	48-24÷3

	（79－7）÷8
	（4＋5）×6
	81÷9×7

	(6＋2)×7
	(40-28)÷6
	(42＋30)×2

	(42-28)
	52-22-4
	82-22+84

	(40-28)÷6
	(42+30)×2
	77-76+32

	（4＋5）×6
	81÷9×6
	54＋9×2

	(4＋5)×6
	81÷9×6
	54＋9×2


